
No. of Printed Pages : 4 ECO-13 

Ln 
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ELECTIVE COURSE : COMMERCE 

ECO-13 : BUSINESS ENVIRONMENT 

Time : 2 hours 	 Maximum Marks : 50 
(Weightage 70%) 

Note : Attempt both parts A and B. 

PART-A (compulsory) 

1. 	Attempt any four of the following questions : 5+5+5+5 

(a) "The business environment is highly 
dynamic." Elaborate . 

(b) What are the ecological issues related to 
business ? 

(c) Outline the consumer rights. 

(d) "New industrial policy has heralded a new 
approach to the public enterprises." Explain. 

(e) Elaborate the concept of workers' 
participation in management. 

(f) Describe briefly the characteristics of foreign 
direct investment. 
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PART-B 

Attempt any three questions from this section. 

2. How do technology and social change affect 5+5 

business ? Explain. 

3. How has the role of the government in regulating 10 

the business been made more productive and 

meaningful ? Explain briefly. 

4. What is meant by privatisation of the business ? 

Outline arguments in its favour and state the steps 

taken towards privatisation in India. 	2+5+3 

5. Describe the causes of industrial sickness in India. 	10 

6. Describe briefly various programmes launched for 10 

promoting small-scale industry in India. 

7. Explain the role of foreign capital in the economic 7+3 

development of a country. What are its 

shortcomings ? 

8. Discuss the functions of WTO. How has it helped 5+5 

in globalisation of business ? 
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VITT - A ( 3T19-4T-4) 

1. 	14- ci (.1cf 	f+-t 1-T .517-t 	drR 	: 5+5+5+5 

(a) "06111(-11Nch Llqiclor ardiq Ilcq10-Ich t I" fli:a7 

I 

(b) cqcitii4 (-1.G1.̀ 41 71171T2Ilit (ecological issues) 

TTIt? 

(c) 3114-*74 

(d) " z-drrr -in 4 -3-trrff ro f.) 

-cr-{Ali kqi t 1" oe4R3eir 

(e) Ycl.'414 	 otiltsqf 

(f) fdtrli Mc1 T fat4 
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ff77.5179 	371t -r -tfR I 

2. -4 f.1 Pictt1 11T 1141131ct) 	(1 -I oqcl.tilq ail "r*--Tf 4chlt 5+5 

391-fr-q-ff do t? 	'Wri-A7 I 

3. ch a la 4-id -T-4 wci-)1( m1 .TriTTT 	f*-fr 	io 

4chlk 31f9-T 3c-41qch 	 01-1111 'vu t? *-1-cr 

owsii -1-f-A7 

4. czicRiV4 F-1,41,41.01 cfql 	t? 	-cR-T d4  

r\TR, T 1T 1 	1-1,111-)ku1 	1 3--6R TR 

2+5+3 

5. ITITff 	Arlfii tJUId1 	rt-tr4 a-)1 	lI 	10 

6. `ITITff 11 	1174 t 3-6-Tff t 4,44ff t rc-R 	f*-R 10 

TR FciriT ch1454,44 -wr quiff wl-*1 

7. 1-) 	t31-0 fq--*-Ff fa tqfr 	ch1 f-Trwr cr) 7+3 

ogitseAt 4fA71  	 

8. fdTd 0e4ITITT TtITB (WTO) 	3- Z1 	I 5+5 

so-Hilt? 
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